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Ẽ0 = Exx̂+ Ey ŷ + Ez ẑ
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<latexit sha1_base64="J9SacGs8d0DHryBoK4UG4H9J6zc="></latexit>

Bz = X(x)Y (y)

<latexit sha1_base64="t2I4KcQlIww9+btjsddeW1CP+zA="></latexit>

X(x) = A cos
�
kxx

�
+B sin

�
kxx

�



Guias de ondas
<latexit sha1_base64="r1ELm4kIh0ifc/huJmGXLBOglTI="></latexit>
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Ẽ = Ẽ0(x, y)e
ikz�!t

B̃ = B̃0(x, y)e
ikz�!t

<latexit sha1_base64="uD1Fj18thqQvpiN78KuZbG5Xam4="></latexit>

Bz(x, y) = B0 cos
⇣
n
⇡x

a

⌘
cos

⇣
m
⇡y

b

⌘
(m,n = 0, 1, 2, . . .)

z

y

x

<latexit sha1_base64="D5CVohmQ5gFz699hm/Qd20eYfWI="></latexit> 
@2

@x2
+

@2

@y2
+

@2

@z2

!
B̃z =

1

c2
@2B̃z

@t2



Guias de ondas
<latexit sha1_base64="r1ELm4kIh0ifc/huJmGXLBOglTI="></latexit>
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